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Apley Woods and the Caribbean are the same because _________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
Apley Woods and the Caribbean are different because _________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________

	
Has mild weather.


	
It has beaches.

	
Has woodland.

	
Is in Telford, England.


	
Lots of people visit there.

	
Has wild animals.


	
Grey squirrel and hedgehogs live here.

	
Is extremely hot.


	
Is near an ocean.

	
Is made up of lots of islands.




image1.png




image2.png




